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PART |

For each guestion from 1 to 30, four options are given. Oneofthemismewrrqdmswec.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer

Sheet.

(30 x 2 marks)

g Porous soil allows water to flow through it quickly. Batisa was told that mangrove
plants grow best in soil that is nat porous. He prepared the set up below and tested 4
fypes of soil, A, B, C and D. Each time he poured 30m/ of water into the soil.

30 ml of water

soil
filter paper

measuring cylinder

After 20 minutes, he obzerved the amount of water collected in the measuring
cylinder for each type of soil and recorded it in the table below.

Type of soil Amount of water collected (m/)
A 18
B 13
C 23
D 8

Based on the results of his investigation, which soll should Batisa choose to grow a

mangrove plant?
(1) A
2y B
(3) Cc
4 D

A-1 (Goantotheneudpagé)-'
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The diagram shows the positions of four different objects after they have been
dropped into a trough of water.

Which of the following comectly matches the objects used?

(1)
(2)
3)
(4)

N —

A B C D

) crushed .
ping pong ball marbie Juminium foil iron rod

, . crushed
ping pong ball iron rod fuminium foil marble

crushed . .
aluminium foil ping pong bal iron rod ) marble
h . ;

alu(r:nniJnsiur‘;\dfoil iron rod marble ping pong ball

With the room lights off, a laser was tumed on and its beam was directed towards a
plain white board in a room. The presence of the light beam could not be detected as
it traveled towards the white board. The laser light could only be detected at the white
board, at the point where the light beam struck the white board. John then sprayed
water into the air in the region where the light beam was moving. A part of the path of
the light beam could then be seen.

water sprayed here ]

laser light beam

— white
board

|

Which of the following statements best explaing why the light beam could be seen only
after the water was used?

(1)
(2)
(3)
4)

The laser light beam traveled in a straight line.

The water reflected light given off by the white board.

The white board absorbed more fight than the water could.

The water droplets reflected light from the laser beam to the eyes.

A-2 (Go on to the next page) -
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/ The diagram shaws a simpie machine that is used fo draw water from a well.

What must be done to the machine so that the least effort is required to move the load?

(1)
(2)
(3)
(4)

hot water
(80°C)

Y

A Increase the length of Y
8 Increase the length of Z
(o Decrease the diameter of X
D Decrease the diameter of Y

A and D only
A and C only
B and C only
B and D only

John placed a glass bottle with a stopper ino a trough of hot water as shown below.

He held down the boltle in this way for 5 minutes. Which of the following would
happen during the 5 minutes?

(1)
(2)
(3)
4)

A - The water in the trough will expand.

8. The glass bottie will expand then contract a little.

C The temperature of the air in the bottle will increase.

D The temperature of the water in the trough will increase.

A-3 (Goontothenaxtpme)
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The table below groups 6 imaginary animale according to their diets.

Herbivores Carnivores Omnivores
Didi Fifi Kiki
Wiwi Mimi Sisi

Which of the food webs is correct?
(1) (2)

Plant ———— Mimi ——» Kiki Plant ——» Sisi
\ I / \ Mimi /
(3) 4)
Plant ————»> i Kiki «— Plant——» Didi

Sisi

T N1

money plant cucumber plant

Which of the following correctly describes the similarity and the difference between
the money piant and cucumber plant?

Similarity - Difference

(1) | Both are flowering plants. The money plant has tendrils but the
cucumber plant has clasping roots,

(2) Both have weak stems. The money plant has clasping roots but the
cucumber piant has tendrils.

(3) Both have clasping roots. The money plant is a hon-flowering plant bt
the cucumber plant is a flowering plant.

(4) | Both are non-flowering piants. | The money piant has a woody stem but the
cucumber plant has a weak stem.

A-4

(Go on o the next page) ~
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The diagram below is a representation of Man's activities which can have negative
effects on the environment.

——» 30il exposed to rain

l

fewer trees

l

l

—>  more carbon dioxide

soil no longer suitable for crops

trapping more heat irom the sun

l

rapid meiting of glaciers and polar ice caps

Which of the following couid be A, B, C and D?

(1)
(2).
(3).
(4)

A 8 Cc D
$oil erosion deforestation giobal warming | buming fossil fuel
deforestation ¢ lobal warming buming fossil fuel soil erosion
| global warming soH erosion deforestation burning fossil fuel
burning fossil fuel .| deforestation Boil erosion global warming

Which of the following energy sources have been correctly grouped?

DN

(2)
(3)
(4)

Renowable Non-renewable |
Swsl, wind petroleum, running water
petroleum, running water coal, wind
coal, petroleumn wind, running water
wind, running water coal, petroleum
(Go on to the next page)
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10

A factory was built on a plot of land near a river. During its first three weeks of
operation, all its chemical waste was treated before being discharged into the river.
Because it was too costly, all the chemical waste was dumped directly into the river
without treatment for the next few weeks. Which one of the following graphs shows

the effect this had on the fishes in the river?

(1 (2)
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John wants to show that carbon dicxide is needed for photosynthesis 1o take place.
He intends to camry out starch tests on some leaves to help him in this investigation.
He uses 4 similar plants of similar size and sets up the investigation as shown in the
diagram below. All set-upe are exposad to sunlight, excapt set-up C which is in the
dark.

7
chemical to
absorb
carbon
4 . dwxl@e
Set-up A Set-up B
4 ™\ ( N
| sealed
plastic bag
_/ \ V4 AN
Set-up C (in the dark) Set-upD
Which set-ups should he use to make a valid conclusion?
(1) A and B only
(2) A and C only
(3) C and D only
(4) All 4 set-ups _
A-7 (Go on to the next page)
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12 The diagram shows a hydroelectric power gtation.

Which of the following best describes the energy changes that take place from part A to
part B 1o part C as shown in the diagram?

(1) . chemical energy — kineticenergy ——» electrical enengy
(2) potential energy ——» kinetic enefgy ——» electrical energy
(3) potential energy ——» electrical energy — kinetic energy

(4) Kkinetic energy ——» electrical energy ———» chemical energy

(Go on to the next page) s
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14

.

The table below shows the length of a spring when different weights were hung on i,

Weight (g) Length of spring (cm)
20 8
60 10
120 13
160 15

What is the original length of the spring?

(1) 4cm
(2) Scm
{3) 8 cm
(4) 7cm

/

Alice wanted to find out how the amount of carbon dioxide affected the rate of
photosynthesis. She knew that when beking soda is added tfo water, the carbon
dioxide In the water increases. She set up two experiments as shown in the diagnam
below. She placed both set-ups in a plece where there was sunlight. After 9 hours,
she recorded her observations.

She notedmdmefewasnmeoxygmco;emd in test tube A. What conciusion
could she make from this experiment?

(1) Sunlight is required by the plant for photosynthesis. ,
(2)  Baking soda is required for photosynthesie to take place.

(3) Carbon dioxide is required by the plant for photosynthesis. -
(4) The rate of photosynthesis increases when there is more carbon dioxide.

A-9 (Goontotfsnendpagi)
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Ben was able to arrange 3 magnets as shown below.

Which one of the following is another possible amangement?

A

B|IC DIE

(1) {2)
) w E F >
< C w . C D
(3) (4)
L.
& 1c D
SlA B C Dy A B
A-10 (Goonbthenaxtpage\):
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i

B C
iron cloth
steel wood
nickel plastic

Look at the classification chart above, which of the following headings best describe A,

B and C?
A 8 C
1 Metals Magnetic Non-magnetic
(2) Metals Conductor of electricity Insulator of
_ elactricity
33) Meatter Man Made Natural
(4) Maiter Goad conductor of heat Insulator of heat

17 A few strips of materials each measuring 3cm wide, 30 cm long and 2mm in thickness
were put through a series of tests. The table below shows the aims of 3 different tests
performed on them.

Tests

A | To find out how much force is needed to break the strip of

material.

B | To find out how deep the scratch mark Is when a nail is used to

scratch it

a table.

To find out how much force is needed to Nt one end of the strip
off the table top by 2 amn when the middie of the strip is fixed to

Which of the above tests can be used to find out the maternial that is the hardest?

(1)
(2)
(3)
4)

A only

B only

B8 and C only
A,BandC

(Go on to the next page)
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Even though the Venus fiy trap has the ability to trap ingects, John wants to prove that
it is still 2 food producer. The table below describes 4 different sets of plants that
John can choose from for his experiment. Which 2 pats of Venus fly trap ptants below

should John choose to carry out a starch test?

(1)
()
(3)
4)

Pot A PotB
Plant in sealed trensparent plastic Plant in sealed transparent plastic
container without flies container with flies
Plant in sealed wooden container Plant in sealed glass container
Plant watered everyday Ptant watered every 3 days
Plant with fertilizer Plant without fertilizer

in the set-ups below, similar types of batteries and heating colls were used. The set-
ups were then immersed in 4 similar basine of tap water. The time taken for the
temperature of the water to increase by 10°C was recorded.

i
B
— -

f.i?é‘i

set-up A set-up B

L O &

I
.

set-up C set-up D

Given that the rate at which the water heats up depends on the strength of the
electrical current, in which of the above set-ups will the water in the basins heat up at
the same rate?

(1)
()
(3)
4)

A only

A and C only

B and D only
A, B and C only

(Go on to the next page)

é‘ |



The diagrams below show the iife cycies of 4 different types of insects that feed on
coiton piants. From the information given in the diagrams, which of these insects is
the least destructive to the cotton plants?

20

(1) (2)

Aduit Moth
Adult Moth several days
3 days or

longer
Pupae Egg
Brown 7-10 days Cotion 2-5 days
Cotton T Leafperforator
15 1h days 34 daye . LIFE CYCLE
LIFE CvCL CYCLE perforalor 30 days Pratiod
k “horseshoe”
Larvae stage
12-14 days Larvae
3.5 days
(3) (4)
Adult Mot! duit Butterfl
2 days or severa] days
longer
' Cotton
Cotton Square
Pupae Leafworm Pupae
upa 10-12 d Borer
6-10days  LIFE CYCLE ays LIFE CYCLE 4-8 davs
28 days or 30 days or
\ longer longer /
Larvae
1 5 days 20-22 days
(Go on 1o the next page)
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4}

3

Some cubes of ice were added to a giass of hot weter which was left in a room,
and its temperature was monitored over a period of time. Which of the following
graphs best shows the temperature of the water in the glass over a period of time?

Temperature (°C)
A I
(2)
Time (mins.)
Temperature (°C)
A (4)
>
Time (ming.)
A-14

Temperature (°C)
7 3
Time (mins.)
Temperature (°C)
(Go on to the next page) -
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22 The table below lists the melting and boiling point of some substances. Based on the
table, which of the substances below is a solid at room temperature?

(1)
(2)

3

(4)

23

Substances Melting point Boiling point

A -25°C 125°C

B -207°C -12°C

C 16°C 88°C

D 36°C 194°C
The diagram below shows the bulb of an onion,
From which of the above parts will a new onion plent grow?
(1) A
(2) B
(3) C
(4) D

A-15 (Goontothanea:tpﬂbé)
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24 The photo below shows how the sun appears in the sky on a particular day. This

phenomenon is called the eclipse of the sun.

Moon's 6
Ordis .- -8~
D / .. B
0 O
. ’
~ LY - L s
O - Moon
Emth
Sun
At which point A, B, C or D wouid the moon most likely be during this time?
(n A
(2) B
(3) c
(4 D

A-18 (Goonb!henatpqga)
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The diagram below shows the human ekeletal system with joints labeled A, B, C and
D.

Which of the joints above allow similar forms of movement?

(1) AandB
{(2) AandC
{3) B and C
(4) BandD

A-17 (Goontothene)dme)

R



26 The diagram below shows a circuit tester.

When the circuit tesler was attached to the various points on a circuit board, the

following was observed.
Points connected to Did the bulb light up? |
AtoB Yes
BtoC No
CtoD Yes
EtoD No

Which of the following circuit boards was being tested?

1 (2)
A B A B
—& o
E E
@ @
C D C D
@ @
(3) - {4)
A B A B
—@ [ 2 @
E E
c ¥ .C/. D
[ —O @

—

A-18 (Goonlolhenextpage)ﬂl
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27 The table below shows the amount of gases in 1000 cm? of air exhaled by a 12 year

old boy when he is sleeping.

Which of the following is most likely to be the amount of gases in 1000 cm? of air

Volume of gases ( cm?®)

oxygen

carbon dioxide

other gases

174 cm3

40 cm3

786 cm?

exhaled by the same boy when he is cycling?

28 The diagram shows how 2 substances, A and B, are transported in a plant.
B

Based on the diagram, what are substances A and B?

(1)
)
)

ON

(1)
(2)
(3)
(4)

Volume of gases { om’
oxygen carbon dioxide other gases
174 30 582
214 70 502
174 40 786
123 91 786

roots

B

stems

leaves

NN

A B
water nutrients
water sugar
mineral salts water
sugar mineral saits
A-19 (Go on to the next page)
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29 The diagram below shows the various stages of a frog’s kfe cycle.

A B Cc D
Which of the following commectly shows the stages in its ife cycle?

1) (2)

——'E—l *——’—1

e 1 L& |

L [ a] LE e ]

(3) O}
— e D
L “—Ls | L LA
A-20 (Goontothemxtpage;: )
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The flow chart below shows the processes involved in the human digestive system.

30
E production :
— : of 5
__»| 9rinding / »| muscular |+ | chuming ) ' gsubstance !
chewing of contractions of food x ! w :
food food into to move food and e mmm e —meeem :
emers simaller along digestion
' l
! extraction ! completion
i of R R of digestion
: substance -
E X .
i extraction - movement of
i of R it waste for
. substance . storage in
;_______Y_______; the rectum
Based on the information above, what are substances W, X, and Y respectively?
w X Y
(1) saliva waler nutrients
(2) saliva nutrients water
(3) digestive juice water nutrients
(4) digestive juice nutrients water
A -21
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PARTII

For questions 31 to 46, write your answers in thie bookiet.
The number of marks avsilable is shown in brackets [ ] at the end of each question or part

question.

(40 marks)

31

The diagram shows a lever balanoce with a 2009 ioad that can slide along the beam

on one side to balance an object placed in a pan on the other side.

distance between
2009 load and ]
support
[ D) P) 1 — beam
load 200g

object
pan
support

I il

Michael used the load of 200g %o balance some objects placed in the pan. Each time,
he had to move the 2009 load along the beam. He measured the distance between

the 200g load and the support and recorded them .in the table below. He algo
recorded the mass of each object. -~ -

(a) Complete the table below. [1]
Mass of objects (g) 50 | 100 150 200 300
Distance between 200g o 8 12 25
load and support (cm) I

(b) State the relationship between the mags of the object and the distance

between the 200g load and the support. [}

AL U1 W WD 11GAL payay

SCORE
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32

Wilson made the circuit tester shown below o tast if some materials are conductors of
electricity. buib

crocodile
clips

— |
N4

He used the materials, one at a time, to close the circuit and recorded the results in
the table below.

Material Did the bulb light up?
A No
B Yes
C Yes
D No

(a) Use the information from the table to complete the classification chart below.
Wirite a sultable heading, sub-headings and the letters A, B, C and D in the
boxes provided. (1}

(b) Wilson then used object X to ciose the circuit. He observed that the bulb #t up
very brightly and then fused. What could object X be? {1)

(Go on to the naxt page)
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33 The diagram shows a mode) of a solar still which is used to purify sakt water.

clear plastic

water droplet
| R T e T T A I S T .

pwrified water  salt water base of compartment pairted black purified water

(a) Suggest a reason for painting the base of the compartment containing the salt
water black. : ' ' (1)

(b) What would be the effect if there is an increase in the temperature of the salt

water? (1
(Go on to the next page)
SCORE -
B-3 2
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Susan wanted to test her hypothesie that the presence of water plants increases the
survival rate of water snails.

She was given the following items.

@ @ @ @ 4 snails

&<d /4 &<« &<« 4 fishes

2 strands of hydrilla .

1 litre of water

2 air-ﬁght glass jars

2 table lamps

(Go on to the next page)
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(@)

(b)

Susan needs to prepare two set-ups to conduct a fair test. Compiete the
drawings below to show the set-ups that she should prepare.

(You neecd not use all the items provided.)

2

Set-up A

Set-up B

What observation would prove that Susan's hypothesis is true?

1]

(Go on to the next page)
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Mark knew that vinegar reacts with baking soda to produce a gas. He wanted to
investioate whether changing the temperature of vinegar would affect the rate of
reaction in the mixture. The gas produced in the reaction was collected in a balloon.
He recorded the results in the table below.

inflated
baHoon with
a diameter
. of § cm
Flask | Temperature | Time Diameter of
of vinegar taken inflated
(°C) (s) balloon (cm)
A 15 35 5
B 25 18 5
flask
c 5 70 5 '
| baking

soda and
vinegar

(a) If Mark used 3 g of baking goaa and 15 ml of vinegar in flask A, what should

be the amount of both substances in flagk C? )]
Amount of vinegar sl
7
Amount of baking soda A 9

(b)  Why was the diameter of each of the inflated balloons kept the same? {1}

(c) What conclusion can be made about the temperature and the thime taken for
the reaction? {1

(Go on to the next )

SCORE -




36 John wanted to illustrate that one form of energy can be changed info another form.

He set up the apparatus as shown below and heated up the water in the can unill the

water boiled.

|

retort stand—————— N

sealed metal can with six spouts
(half-filled with water)
g I— gas bumer
(2) It was observed that the metal can started spinning. Explain why. 1]
(b) What could be seen coming out from the spouts of the matal can? f1]

(¢) Without doing anything to the metal can, what can be done to make the metal
can spin faster? (1]

(Go on to the next page)
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37 Gary was given three objects wrapped similarly in paper. The objects were of similar
size. He held a magnet about one centimetre away from each one of them as shown
in the diagram and recorded his observations in the table below.

— ¢ .

object magnet
wrapped in
paper
Object Observation
A It remained still
B It moved away from the magnet
C it moved towards the magnet
(a) Which one of the ofgeds (A, B or C) couid be made of aluminium? (1)
(b) What n‘f(en'al could object C be made of? (1]

(c) Without using any apperatus or materials, Gary repeaied the activity and
was abke to mak ject B move towards the magnet. Describe what he did to
make object B Mds the magnet. 1)

(Go on to the next page)

SCORE
8-8 3




Refer to the food web below and answer the questions.

—> g —% G —> H

L

(a) (i) Which organism i; a plant? [}4)

(i) Which organism is a oredator only? [*4]

(b) What will eventually happen to orgsnism H if a disaster destroyed most of
organism A? Why? {1

(Go on to the naxt page)

SCORE | -
B-9 2
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39 The diagrams below show various lcaves.

Study each of the following groupings, state the characteristic observed thet is used to
group them in the boxes provided. [3)

(Go on to the next page)

SCORE |
B-10 3
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A pot of soil was left on a window ledge after the plant that was growing in & had died.
Over a period of ime, some organisms bégan to grow in it. Though they were not
green in colour, they looked like plants.

Below is an outline of an experiment that can be conducted to find out if this organiem
is a plant.

Step 1: Fill two pots with soil.
Step 2: Transfer an equal emount of organiem into each pot.

Step 3: Leave one pot in the cupboard, the other on the window ledge.
Step 4: Water each pot everyday.

Step 5: Observe the growth of the organisms in each pot for 3 weeks.
Step 6: Draw a conclusion.

(a) if the organisms in both pots are growing well after 3 weeks, what can you
conclude? (1]

(b) Give a reason for your answer in (a) above. (1]

When matter interacts with different intensity of heat, they can go through changes in

their states. AH matter . when hested. When heat is absorbed, a
matter increases in temperature and can | to become a hquid
or _ te ‘um into a gas. When Matter loses heat, they can either
contract, condense or become a . These changes in states
are often reversible. (21

(Go on to the next )

SCORE !
B-11 4
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Peter wants to find out how the amount of salt affects the boiling point of water. He
set up his experiment as shown below using several flasks, water, candles and some

salt.

flask

water with
salt

The details of his experiment are recorded in the table beltow.

Flask A Flask B Flask C Flask D Flask E
Amount of water at the 100md 100mi 100m| 100m} 200mi
start of his experiment
Amount of salt in each 0g 5g 159 20g 0g
fAask
Size of flask 500mi 500mi 1000ml 500ml 1000mi
Time taken for the water Smins 10mins 10mins 20mins 6mins
to boil
Temperature at which 100°C 101°C 102°C 104°C 100°C
water boils
Amount of water at the 80mi 65mi 85mi 50m! 8oml
end of the experiment

(2) If Peter were to draw a conclusion from his expariment, which set-ups should
Peter use for this purpose?

[

(b) Name another variabie that must be kept constant for this test to be a fair one.

Do not mention any of those stated above.

[

(

Go on to the next page)
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43 John drew up the chart below to classify plants based on their methods of

reproduction.
(2) Compiete the chart by filking in the empty boxes. 2]
Methods of
reproduction
I
From seeds From spores
i
balsam | 1
angsana
African wlip Fungus
mushroom
dragon’s scales bread mould -

From leaves From underground

From suckers

begonia

plant X ginger

banana .
pineapple

{b) - He is toid that there is an error in his chart. What is the error John has made

and why?

1]

(€)  What can mant X be?

mn

8-13

SCORE

(Go on to the next )




44 The diagram below shows 2 different plants.

(a)

(b)

Plant A r Plant B

Based on the diagrams above, state two differences in the roots of both
plants. (1

Given that plant A’s roots had been attacked by parasites, explain how
this will affect the function of the roots and eventually the growth of the
piant. ' _ (2]

(Go on to the next page)

SCORE
B-14 3
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45

Jonah set uUp 2 similar aquariums, one with water plants, the other without. For each
tank, he observed the section of the tank where the fish tend to swim in. He did a
sketch of his observation as shown below.

Observation made a day after setting up the tank

X
@ ¢a SR>
| ———
Tank A Tank B
Observation made 5 days after setting up the tank
& T
LY,
& &K
Tank A Tank B
(a) Based on his igNs over this period of time, explain why the fish in the
two tanks swam in sindflar sections of the tank on the first day the tanks were

set up?

(b)  Explain why the fish in the two tanks swam in different sections of the tank a
few days later? (1

77



John set up the circuit below using 2 bulbg, L1 and L2, and three switches, S1,

S2 and S3.
L1

SO -
‘L St

+
: szo\ SBK
+ o ?

L2

He wanted to find out which of the buibs, L1 and L2, will light up when the
switches were opened and closed. He recorded some of the data he collected

in the table shown. Fill in the empty boxes to complete the table. (2]
Switches Did the bulb light up?
S1 I 82 83 L1 | L2
close { close no no |
cloge’ open ’ yes yes
L
open open close no
.
close | close close yes
THE END
SCORE
2
B-16
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01. 4 1. 1 21. 3
02. 3 12, 2 22. 4
03. 4 13. 4 23. 4
04. 3 14. 4 24. 2
05. (2) 15. 2 25. 1
06. 4 16. 4 26. 3
07. 2 17. 2 27. 4
08. 4 18. (1) 28. (4
09. 4 19. 2 29. 1
10. 2 20. (1) 30. 4
31) a) 4 16
b) The heavier the mass of the object, the further away
the 200 g load is from the support.
32) a) Conductor of electricity Insulators of electricity

B, C A, D

b) It could be a battery.

33) a) The compartment containing the salt water is painted

35) a)

36)

black to make it absorb more heat.

b) The water will evaporate wmore quickly.

b)
c)

a)

b)
c)

——— — b) The snail in set-up B will
die after a few days
/}‘CK:) while the snails in set-up
A are still alive.
ICi: _
— CJ:.-—I
15
3 -
The amount of gas produced is the same.

The lower the temperature of the vinegar, the longer it
will take to produce the gas.

The heat energy from the flame changed into kinetic energy
of the steam when the water boiled.

Water droplets could be seen coming out of the can.

The metal can cen be made to spin faster by adding anothef-

gas burner.
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37)

38)

39)

40)

41)

42)

43)

44)

45)

46)

a) Object A b) It could be made of iron

¢) He used the other end of the magnet to make object B
move towards it.

a) i) organism A ii) Organism H

b) The population of H will decrease because when A is
destroyed, it leads to a depletion of the food sources

in the whole community,

Oval shaped
Jagged-edged
Parallel veins

a) The organisms in the pots are not plants.

b) Plants need light to photosynthesize and make food. If
the organisms in the pot placed in the cupboard are
growing well, it means they are not plants because they
do not photosynthesize.

expands
melt

evaorate
solid

a) He should suse set—ups A, B and D

b) Number of candles.

a) From other plant parts

Ferns

b) He put fungus in the chart. Fungus are not plants.
c) It can be the African violet.

a) The roots in plant A do not grow very deep into the soil.

b) The roots will not be able to absorb enough nutrients
and water for the plant, causing it not to grow well.

a) The water in both tanks was rich in dissolved oxygen

b) The level of oxygen in tank A is more than that in tank
) B because the plaants in tank A photosynthesized and
gave out oxygen.

open
close

no " TJHE SafO

no

Y



